00000 (20100526) M: 0O0OoO0OOO0ooooo
08s3002: OO, O0000000O00OOOO.O0OO0,00060,00000 30000
000 1,3,5-hex-tri-en [0 00 CH,=CH-CH=CH-CH=CH, 00| 00000000
ooooOoooo ? M:O00OO0OOODOOO,0000000000000000O
oo0,00000000 700000000000 pOOOOOODOOO,000
oooobooooob. ocoooooooobooooooooo,booooobOon.

oooo goooooo
z 1 0 0 0 1 z 1 0 0 0
1 1 0 0 O 1 2 1 0 0 O
01 =z 1 0 O —0 01 =z 1 0 O —0
0 01 =z 1 O 0 01 =z 1 O
0 0 01 = 1 0 001 =z 1
1 0 0 01 =z 0 0 0 0 1 =
08s3011: JUO0O0OOUOOO0O,0000000O00O0OOOOOOO? M:0OOOOO

0000000000000000000000000,0000000000.

08s3017: 0O0O0,000000000000O0COO N,O0OO,N, 000000000
0000000000000000000000 ? 0000000000000 ?
M: 000000000000.000000000000000000 ?

08s3021: Hiickel 000000000 cistrans 00000000000000000
0000,0000,cstrans 0000000000000D0O00D0O0OOO.
M: 000 Hiickel 00000000000000000000000000000
00000000,0000000000000 (0000)00000000000
000,0000000000000.00,000000000000000000
ooooo.

08s3028: OOODOOOODOO,E=e+4000000000000,00000000
000 o=0(00000000),8=-75kJmol™ (<0)00000000, 0
0000000D00000O0. M: 000000000000 A00000000.
000000000000D0000. //000,0000000n00000000
0,p00000000000000000000.
000000000000000,000000000000000.
e 0000DODODDOOOOD: 00000000O00O00,B =-104.5kJ/mol

(00,0000 O, p.368)

e J00DDODDODDODOODODODOODDOODDOO: B =-(15018)
keal /mol = -(62.8075.3) kJ/mol (00, 000000000, p.210)
e IODDODOIOODDDDDOOOOOODDDODODOO: a = -7.06 eV = -681
kJ/mol, B =-2.49 eV =-240 kJ/mol (0D, 000000 O, p.150)
e JOIODDOUODODOODDO: ODDOODDOODODOOO,B =-3.65
eV =-352kJ/mol (0D0,000000 O, p.160)
08s3032: U UUUUOOO0OO 40000000000000COOUO0O0OOODOOOO
Esoono — Enonp = 04728 <0 (10.25) 0000, 0000000000000
gooobobooooobboooobobboooob. booooobobooooo
ooooodo. M:O00OO0OO0OO0OOO0O.D0O00OO0Ooco00O0O0ODOODODOO,DOO0O
gobooobooboobooboboo,obo0obo0obboooobbooobobooo
goobodoobbooobbooobbuo. o, boobbooobboooo
godd,0gdooopbobob. ooobobbbbbbbobooooUooo
gooooobo,0oobooboooboon.
08s3040: CU0OOUOUUOO0OOOUOOOOO0OODOOOO,00000000D0OCOOO0O0OO
0000 ? 000000000, 00000000, 000000UoooooOg
ooooooo ? M:OOOOOODOOOOOOOOOOOODOOOO :-pOOO
gobooooboobooboboob,bobboobuoobboobo,ooboo
oooooooog ?
08s3043: COUOOUOUOOUOOOOOOO? M:OOUOOOOOOOOOOOOOOO,
gooboooobo,doboobooobboooboooboo. bbog, g
Joo0doooodooO ? 000000000, 000000000, 000000
goooooboboodooooobobobboooooobobbooo,bbooooo
goooao...... gg.
08s3049: d0O0O00O0OO0O d,.00000000O00ODO 6.7[0D000)0D00O0OOOOO
7 M:00000000000000C,000 p231 00000000 O0OO0OO.
oooo 6.6(f)DDDDDDDDDDDDDDDDDDDDDDDDDDDD(do
000 ¢000DOO0)0DOO0ODOODOODO.
07s3032: 0000000 O0O0OO0ODOOOOOOOOOOOOOOOOOOO? M:OO
00000000 7?00 yes/no000000,00000000000°7 //00
pgodg,bodddddd0, bbb bbb bbobD
ooooo 7



